
x + 5

7n

15 + n = 23

6 + p

12/n

7 - c

1/4 x

15m

11 - a = 7

8n + 4 = 84

n/5 = 6

five less than a number OR a number decreased by five

three times a number divided by 6 OR the product of three and a number divided by 6

Answers will vary.  Samples are below.



3d - 8

g - 2 = 14

7 + z

2/5 (6s)

10 - x

5a - 3

9 + s

8 + z

4d - 2

9 - c

4f - 9

y - 3 = 15

8 + t

h - 9 1/3 (7 + k)

nine divided by a number

the product of three and a number is twenty-seven

The product of 6 and a number, decreased by 4

1/2 a number increased by 9 is 11

14 divided by a number

the product of 6 and a number is 42

the product of 9 and a number, decreased by 10

1/4 a number, increased by 8 is 16




